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Venn diagram  Probability Union
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Trapezium Parallelogram Similar
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Shape A undergoes a series of
transformations.

@ areflection in the line
x+y=4

@ an enlargement by scale
factor 2 about centre (10, —4)

Describe the final transformation
in the series needed to map
shape A onto shape B.
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33 teenagers were asked about drinks.

20 drink tea (T) and 10 drink coffee (C).

8 people drink hot chocolate.

All 33 teenagers drink tea, coffee or hot chocolate.
How can you tell from the diagram that no-one
who drinks tea or coffee drinks hot chocolate (HC)?
Complete the Venn diagram.
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Show that the area of the trapezium is greater than the area of the
parallelogram.
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Triangle A is reflected in the x-axis to give B.
Triangle B is then reflected in the line x = 1 to
give C. Describe fully
P S AL =— -
T I the single
o EE | ~transformation
? k ~ that maps A
onto C.
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Trapezium: Area= (a+ b) x h+2
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Single Series Translation

Enlargement Reflection Rotation
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